
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r



INDEX

Pump Application Data 3

0P1 Series 5

0P1 Order Codes 11

1PN Series 12

1PN Order Codes 26

2P1 Series 43

2P1 Order Codes 50

3P1 Series 52

3P1 Order Codes 59

1PH Series 60

1PH Order Codes 71

1PA Series 72

1PA Order Codes 75

1P-1,5P-2P Tandem Series 76

1P-1,5P-2P Order Codes 100

w w w . h y d r e x . c o m . t r



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

Pump Drives

Pump Rotation

Pump Mounting

Pump Suction Line

Pump Outlet

3



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

SU
C

TI
O

N
 A

N
D

 R
ET

U
R

N
 L

IN
E

P
R

ES
SU

R
E 

LI
N

E

PIPE SIZING

Cavitation Operating Parameters

Oil Reservoir

Filtration

Oil

High Efficient Pumps

4



0P1 SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

5



w w w . h y d r e x . c o m . t r

Model
Displacement

cm3/dev

Flow lpm

(1500 rpm)
Max. Outlet Pressure

Min. Speed

(rpm)

Max. Speed

(rpm)

TECHNICAL DATA

k

Performance Curves

6



w w w . h y d r e x . c o m . t r

Model
Displacement

cm3/dev
A B

OP1-103 P

OP1-104

OP1-106

OP1-108

OP1-111

OP1-113

OP1-115

OP1-119

OP1-124

PUMP APPLICATION DATA

7



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

B Type

G Type

R Type

8



w w w . h y d r e x . c o m . t r

HOLES TYPES

Hole Type
Tube
ØD1

I II III

A B A A

01
Inlet 25.15 M6x1x12.7

Outlet 25.15 M6x1x12.7

02
Inlet ¾-16UNX14.2

Outlet ¾-16UNX14.2

03
Inlet 7/8-14UNX16.5

Outlet ¾-16UNX14.2

04
Inlet 3/8-BSPFX11.4

Outlet 3/8-BSPFX11.4

05
Inlet ½-BSPFX14

Outlet ½-BSPFX14

9



w w w . h y d r e x . c o m . t r

SHAFT TYPES

Standard Type

P Type

S Type

10



w w w . h y d r e x . c o m . t r

N

o
Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0001 1,2 1,5 280 A B Parallel
Inlet/Outlet

035-M6x1x12 (4) D

2 T03-0002 1,2 1,5 280 C B
Parallel Inlet/Outlet

035-M6x1x12 (4)

D

3 T03-0003 1,6 1,9 280 A B Parallel
Inlet/Outlet

035-M6x1x12 (4)

D

4 T03-0004 1,6 1,9 280 C B Parallel
Inlet/Outlet

035-M6x1x12 (4)

D

5 T03-0005 2,2 2,9 280 A B Parallel
Inlet/Outlet

035-M6x1x12 (4)

D

6 T03-0006 2,2 2,9 280 C B Parallel
Inlet/Outlet

035-M6x1x12 (4) D

7 T03-0007 2,9 3,9 280 A B Parallel
Inlet/Outlet

035-M6x1x12 (4)

D

8 T03-0008 2,9 3,9 280 C B Parallel
Inlet/Outlet

035-M6x1x12 (4) D

ORDER CODES

11



1PN SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

12



w w w . h y d r e x . c o m . t r

TECHNICAL DATA

Model
Displacement

cm3/dev

Flow lpm @

(1500 rpm)

Max. Outlet

Pressure

Min. Speed

(rpm)

Max. Speed

(rpm)

1PN-040 4,0 5,7 250 600 3000

1PN-055 5,5 7,8 250 600 3000

1PN-061 6,1 8,7 250 600 3000

1PN-082 8,2 11,8 250 600 3000

1PN-095 9,5 13,6 250 600 3000

1PN-0119 11,9 17,1 250 600 3000

1PN-135 13,5 19,4 250 600 3000

1PN-140 14 20,1 250 600 3000

1PN-146 14,6 21,0 250 600 3000

1PN-168 16,8 24,1 250 600 3000

1PN-192 19,2 27,6 250 600 3000

1PN-229 22,9 32,9 210 600 2500

1PN-250 25,0 36,0 210 600 2500

1PN-281 28,1 40,4 175 600 2500

13



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

500 1000 1500 2000515 102025

Working pressure
ÇALIŞMA BASINCI

150 bar

210 bar

AKIŞ EĞRİLERİ
Flow curves

D
E

B
İ
lt
/d

k
F

lo
w

l/m
in

2500 3000

POMPA HIZI (dev/dk)
Pump speed (rpm)

GİRİŞ GÜCÜ

3500 4000

10

20

30

40

50

60

70

0

80

100 bar 50 bar

1PN-281

1PN-229

1PN-192

1PN-168

1PN-146

1PN-140

1PN-135
1PN-119

1PN-095

1PN-082

1PN-061

Oil
YAĞ

35 cSt 50°C

250 bar

Input power (Kw)

1PN-055

1PN-040

1PN-250

14



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

Body with

AY KAMA
Woodruff key

1
5
.8

5
0

1
0
0

A

B±0.4

84

3.2-0.020

Ø15.8

6
.3

Model
Displacement

cm3/dev

A

mm

B

mm

1PN-040 4,0 88,1 42,2

1PN-055 5,5 90,4 43,4

1PN-061 6,1 91,4 43,8

1PN-082 8,2 94,6 45,5

1PN-095 9,5 96,5 46,5

1PN-0119 11,9 100,4 48,4

1PN-140 14 103,7 50,0

1PN-146 14,6 104,7 50,5

1PN-168 16,8 108,1 52,2

1PN-192 19,2 123,9 60,1

1PN-229 22,9 129,6 63,0

1PN-250 25,0 132,9 64,6

1PN-281 28,1 137,8 67,1

15



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

- 0
.0

3
0

- 0
.0

3
0

- 0
.0

3
0

19 4.82

8
8
.8

7
-0

.0
5

38.1 38.1

63.5 59.5

3
8
.2

8
2
.4

7

30

60

Ø
5
0

-0
.0

6
0

18.7 4

82

1
4
.5 6
0

1
0
0

Ø11.1

19 4.82

Ø
3
6
.4

7
-

0
.0

5

88

3
2
.5

6
3
.6

35.7 35.7

1
1
2

Ø9
4 DELİK

Holes

18.4

Ø
4
7
.8

-0
.0

2

Ø
5
2

-0
.0

6
0

7.2

2

3.2+0.2 82

1
4
.5 6
0

1
0
0

30

60
Ø11

2 DELİK
Holes

18.4

Ø
4
7
.8

-0
.0

2

Ø
5
2

-0
.0

6
0

7.2

2

3.2+0.2 82

1
4
.5 6
0

1
0
0

30

60

Ø9.4

4 DELİK

Ø11

2 DELİK
Holes

Holes

2 DELİK
Holes

19 4.82

Ø
3
6
.4

7
-

0
.0

5

88

3
2
.5

6
3
.6

35.7 35.7

1
1
2

Ø7.1
4 DELİK

Holes

B1 Square Flange B2 Square Flange

C1 Tractor Applications D1 Centering Ø52,0mm with seal

ring

D2 Centering Ø52,0mm with seal

ring

E1 Centering Ø50,0mm

16



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE
- 0

.0
3

0

- 0
.0

3
0

18.4 7.2

Ø
5
0

-0
.0

6
0

82

1
4
.5 6
0

1
0
0

30

60

Holes

Ø11

2 DELİK

174.6

146

Ø14.3

Ø
1
0
1
.6

-

0
.0

5

21.59 5.08

13.97

19 6.4

Ø
8

2
.5

5
-

0
.0

5

106.4

Ø11

2 DELİK
Holes

10.6

132
19 6.4

Ø
8
2
.5

5
-

0
.0

5

106.4

Ø11

2 KANAL
Slots

10.6

132

106.4

M10x1.5 

2 YERDE
Places

13219 6.4

Ø
8
2
.5

5
-

0
.0

5

10.6

18.4 7.2

Ø
5
0

-0
.0

6
0

82

1
4
.1 6
0

1
0
0

30

60

Holes

Ø11

2 DELİK

2 DELİK
Holes

F1 Centering Ø50,0mm F2 Centering Ø50,0mm

G1 SAE A – 2 Bolts G2 SAE A – 2 Bolts

G3 SAE A – 2 Bolts G4 SAE B – 2 Bolts

17



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE
- 0

.0
3

0

- 0
.0

6

- 0
.0

6
0

- 0
.0

3
0

49.2 50.4

3/8-16UNC-2B 

2 DELİK
Holes

118.8
17.9

Ø
5
2
.3

4
-

0
.0

5

4.5

18.4 7.2

Ø
5
0

-0
.0

6
0

30

60

1
0
0

6
0

1
4
.5

82

Ø11 

2 DELİK
Holes

19 7.2

Ø
8
0

-0
.0

9

72

90

3
4
.5

6
5
.5

1
1
8

35.05 8.0

Ø
8
0

-

0
.1

0
6

72

90

3
4
.5

1
0
0

1
1
9

Ø9.0 

4 DELİK
Holes

18.4 7.2

Ø
5
0

-0
.0

6
0

30

60

1
4
.1 6
0

1
0
0

82

Ø11 

2 DELİK
Holes

Ø9.5 

4 DELİK
Holes

J1 Centering Ø50,0mm J2 Centering Ø50,0mm

N1 Tractor Application S1 Centering Ø80,0mm

Y1 Outboard Bearing

18



w w w . h y d r e x . c o m . t r

HOLES TYPES

ISO6149SAE J514

Code ØC ØD T
A 15 35 M6x1
B 20 40 M6x1
C 20 40 M8x1.25
D 25 50 M8x1.25
E 18 55 M8x1.25
F 29 55 M8x1.25

Code ØC ØD T

A 13 30 M6x1

B 15 30 M6x1

C 15 35 M6x1

D 20 40 M8x1.25

Code T
A M16x1.5
B M18x1.5
C M22x1.5
D M27x2
E M33x2

Code T
A G 3/8''
B G 1/2''
C G 3/4''
D G 1''

T

T

Code T
A 9/16''-18 UNF
B 3/4''-16 UNF
C 7/8''-14 UNF
D 1 1/16''-12 UN
E 1 5/16''-12 UN

F 1 5/8''-12 UN

ØD

ØC

ØD

ØC

T T T

Type 1 Rectangular Flange Type 2 Rectangular Flange

Type 3 UNF Thread

with O-ring Boss

Type 4 Metric Thread

with O-ring Boss

Type 3 Pipe Thread

(BSPP)

19



w w w . h y d r e x . c o m . t r

SHAFT TYPES

8.5

31.5
32.5

7.8

13.8

23

35.4

3.8

10

23.5

Min. Full Thread

TAM DİŞ BOYU

EVOLVENT SPLINE 

SAE J744 19-4
11 DİŞ, 16/32 DP
DİŞ ÜSTÜ ÇAPI: Ø18.63

Involute Spline  

SAE J74419-4

11 Teeth, 16/32 DP  
Major Diameter: Ø18.63

EVOLVENT SPLINE 

SAE J744 16-4
9 DİŞ, 16/32 DP
DİŞ ÜSTÜ ÇAPI: Ø15.45

Involute Spline  

SAE J74416-4

9 Teeth, 16/32 DP  
Major Diameter: Ø15.45

EVOLVENT SPLINE 

SAE J498 A
10 DİŞ, 16/32 DP
DİŞ ÜSTÜ ÇAPI: Ø17.45

Involute Spline  

SAE J498 A

10 Teeth, 16/32 DP  
Major Diameter: Ø17.45

MAKS. TORK: 140 Nm

Max.Torque
MAKS. TORK: 85 Nm
Max.Torque

MAKS. TORK: 105 Nm
Max.Torque

EVOLVENT SPLINE  

DIN 5482 B15x12
8 DİŞ
DİŞ ÜSTÜ ÇAPI: Ø14.5

Involute Spline  

DIN 5482 B15x12
8 Teeth
Major Diameter: Ø14.5

MAKS. TORK: 115Nm
Max.Torque

MAKS. TORK: 115Nm
Max.Torque

EVOLVENT SPLINE  

DIN 5482 B17x14
9 DİŞ
DİŞ ÜSTÜ ÇAPI: Ø16.5

Involute Spline  

DIN 5482 B17x14
9 Teeth
Major Diameter: Ø16.5

S1 SAE A Spline 9 Teeth S2 SAE A Spline 11 Teeth

S3 SAE Spline 10 Teeth

S4 DIN 5482 Spline 8 Teeth S5 DIN 5482 Spline 9 Teeth

20



w w w . h y d r e x . c o m . t r

SHAFT TYPES

50 Nm 50 Nm

-0.05

-0.025

4.8 -0.030

1
9
.5

6
-0

.0
2

3

DÜZ KAMA
Square key

32.5

8.1

44.7

19.0

7/16''-20 UNF Ø17.46

6.5 +0.1

2.7 +0.5

-0
.0

2
5

8
-0

.0
8

3

Ø
1
7
.4

Ø
3
2

Ø
3
0

12 -0.2

24.3

32.0

Ø15.87

1
7
.6

MAX.TORK 85 Nm.
Max. Torque.

MAX. TORK 100 Nm
Max. torque

KAPLİN
Coupling

MAX. TORK 65 Nm
Max. torque

M6x1x12 DERİNLİK

Deep

KAMA-3.97x3.97
Key

Ø16.0

3.0-0.020

6
.5

10.5

27.5

40.5

9
.4

M12x1.5

KONİKLİK 1:5
Basic Taper

REF. ÇAPI 17.0
Ref.Diameter

KAMA
Key

MAX. TORK 100 Nm
Max.Torque

Ø15.8

3.2 -0.020

6
.3

M12x1.5

12.1

28

40

9
.4

KONİKLİK 1:8
Basic Taper

REF. ÇAPI 16.66
Ref.Diameter

MAX. TORK 100 Nm
Max.Torque

KAMA
Key

T1 1/5 Tapered Shaft T2 1/8 Tapered Shaft

P1 SAE A 5/8 Parallel Shaft

R1 Tang Drive Shaft

P2 Parallel Shaft

21



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

LS

CF EF

IN

30

82

37

ÇIKIŞ
Outlet

GİRİŞ
İnlet

Outlet

G 1/2"

7/8"-14 UNF

M18x1.5

CF= Priority Flow Port

EF= Excess Flow Port

LS= Load Sensing Port

CF EF LS

G 3/8" G 1/2" G 1/4"

9/16"-18 UNF 3/4"-16 UNF 7/16"-20 UNF

Inlet Outlet

G 3/4" G 1/2"
1 1/16"-12 UN 7/8"-14 UNF

25.5
14.5

82

ÇIKIŞ
Outlet

P Outlet Port on Cover R Inlet/Outlet Port on Cover

L Load Sensing Valve

22



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

CF

T

P

108.5

1
0
0

V Relief Valve

V Relief Valve

Y Priority Flow Valve

23



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

Service port

9/16''-18 UNF
9/16''-18 UNF

CF

CF

EF

Item Controlled

flow  lt/dak

(lt/min)

Pressure setting
range  bar
(PSI)

01 9
90 to 150

(1305 to 2030)
02 12

03 16

3
0

8
Tank port

19

1
0
0

108.5

Y1 Priority Flow Valve

Z1 Flow Control Valve

Z2 Flow Control Valve

24



w w w . h y d r e x . c o m . t r

OUTBOARD BEARING TYPES

a

Fr

a

Fr

Fa

Fa

400

1400

1200

1000

800

600

10 20 30 40 50 60

a (mm)

F
r
(N

)

Outboard bearings eliminate possible problems when the pumps are driven by

V-belts or gearwheels. The diagrams below show the maximum overhung andthrust loads that can be tolerated referred to a bearing life of LH=1000 hours.

Type 1 – Only for Mounting Flange

Type Y1

Type 2 – Only for Mounting Flange

Type B, G, S1

25



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0009 4,0 5,7 250 A B 1/5 Taper
Inlet/Outlet

035-M6x1x13 (4) D

2 T03-0010 4,0 5,7 250 C B 1/5 Taper
Inlet/Outlet

035-M6x1x13 (4) D

3 T03-0011 4,0 5,7 250 A B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

4 T03-0012 4,0 5,7 250 C B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

5 T03-0013 4,0 5,7 250 A

G
SA
E A

2 Hole

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

6 T03-0014 4,0 5,7 250 C

G
SA
E
A

2 Hole

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

7 T03-0015 4,0 5,7 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

8 T03-0016 4,0 5,7 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

9 T03-0017 4,0 5,7 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

10 T03-0018 4,0 5,7 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

11 T03-0019 4,0 5,7 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

12 T03-0020 4,0 5,7 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

13 T03-0021 4,0 5,7 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

14 T03-0022 4,0 5,7 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

ORDER CODES

26



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

15 T03-0023 4,0 5,7 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

16 T03-0024 4,0 5,7 250 C S

DIN 5482 / 9 

Teeth 016,5

Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

17 T03-0025 4,0 5,7 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

18 T03-0026 4,0 5,7 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

19 T03-0027 4,0 5,7 250 A B DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

20 T03-0028 4,0 5,7 250 C B DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

21 T03-0029 6,1 8,7 250 A B 1/8 Taper
Inlet/Outlet

035-M6x1x13 (4) D

22 T03-0030 6,1 8,7 250 C B 1/8 Taper
Inlet/Outlet

035-M6x1x13 (4) D

23 T03-0031 6,1 8,7 250 A B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

24 T03-0032 6,1 8,7 250 C B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

25 T03-0033 6,1 8,7 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

26 T03-0034 6,1 8,7 250 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

ORDER CODES

27



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

27 T03-0035 6,1 8,7 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

28 T03-0036 6,1 8,7 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

29 T03-0037 6,1 8,7 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

30 T03-0038 6,1 8,7 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

31 T03-0039 6,1 8,7 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

32 T03-0040 6,1 8,7 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

33 T03-0041 6,1 8,7 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

34 T03-0042 6,1 8,7 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

35 T03-0043 6,1 8,7 250 A S DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

36 T03-0044 6,1 8,7 250 C S DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

37 T03-0045 6,1 8,7 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

38 T03-0046 6,1 8,7 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

ORDER CODES

28



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

39 T03-0047 6,1 8,7 250 A B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

40 T03-0048 6,1 8,7 250 C B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

41 T03-0049 8,2 11,8 250 A E 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

42 T03-0050 8,2 11,8 250 A E 1/5 Taper
Inlet/Outlet

035-M6x1x13 (4) D

43 T03-0051 8,2 11,8 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

44 T03-0052 8,2 11,8 250 A B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

45 T03-0053 8,2 11,8 250 C B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

46 T03-0054 8,2 11,8 250 A

G

SAE A

2 HOLE

1/5 Taper
Inlet/Outlet

035-M6x1x13 (4) D

47 T03-0055 8,2 11,8 250 C

G

SAE A

2 HOLE

21° SPECIAL

SAE 19-4 / 

11 Teeth

16/32DP

Inlet/Outlet

035-M6x1x13 (4) D

48 T03-0056 8,2 11,8 250 C

G

SAE A

2 HOLE

21° SPECIAL

SAE 19-4 / 

11 Teeth

16/32DP

Inlet

1 1/16»12UNX18

Outlet

7/8»14UNX18 ORING 

BOSS

49 T03-0057 8,2 11,8 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

50 T03-0058 8,2 11,8 250 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

ORDER CODES

29



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

51 T03-0059 8,2 11,8 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

52 T03-0060 8,2 11,8 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

53 T03-0061 8,2 11,8 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

54 T03-0062 8,2 11,8 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

55 T03-0063 8,2 11,8 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

56 T03-0064 8,2 11,8 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

57 T03-0065 8,2 11,8 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

58 T03-0066 8,2 11,8 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

59 T03-0067 8,2 11,8 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

60 T03-0068 8,2 11,8 250 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

61 T03-0069 8,2 11,8 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

62 T03-0070 8,2 11,8 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

63 T03-0071 8,2 11,8 250 A B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

64 T03-0072 8,2 11,8 250 C B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

65 T03-0073 9,5 13,1 250 A B 1/8 Taper

Inlet

040-M6x1x12 (4) D

Outlet

030-M6x1x12 (4) D

ORDER CODES

30



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

66 T03-0074 9,5 13,1 250 C B 1/8 Taper

Inlet

040-M6x1x12 (4) D

Outlet

030-M6x1x12 (4) D

67 T03-0075 9,5 13,1 250 A B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

68 T03-0076 9,5 13,1 250 C B 1/8 Taper
Inlet/Outlet

030-M6x1x13 (4) D

69 T03-0077 9,5 13,1 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

70 T03-0078 9,5 13,1 250 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

71 T03-0079 9,5 13,1 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

72 T03-0080 9,5 13,1 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

73 T03-0081 9,5 13,1 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

74 T03-0082 9,5 13,1 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

75 T03-0083 9,5 13,1 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

76 T03-0084 9,5 13,1 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

77 T03-0085 9,5 13,1 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

78 T03-0086 9,5 13,1 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

79 T03-0087 9,5 13,1 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

80 T03-0088 9,5 13,1 250 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4) D

ORDER CODES

31



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

81 T03-0089 9,5 13,1 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

82 T03-0090 9,5 13,1 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

83 T03-0091 9,5 13,1 250 A B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

84 T03-0092 9,5 13,1 250 C B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

030-M6x1x13 (4) D

85 T03-0093 11,9 17,1 250 A B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

86 T03-0094 11,9 17,1 250 C B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

87 T03-0095 11,9 17,1 250 A

G

SAE A

2 HOLE

1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

88 T03-0096 11,9 17,1 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

89 T03-0097 11,9 17,1 250 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

90 T03-0098 11,9 17,1 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

91 T03-0099 11,9 17,1 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

92 T03-0100 11,9 17,1 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

93 T03-0101 11,9 17,1 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

94 T03-0102 11,9 17,1 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

ORDER CODES

32



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

95 T03-0103 9,5 13,1 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

96 T03-0104 9,5 13,1 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

97 T03-0105 9,5 13,1 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

98 T03-0106 9,5 13,1 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

99 T03-0107 11,9 17,1 250 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

100 T03-0108 11,9 17,1 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

101 T03-0109 11,9 17,1 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

102 T03-0110 11,9 17,1 250 A B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

103 T03-0111 11,9 17,1 250 C B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

104 T03-0112 11,9 17,1 250 C F
SHAFT DRIVE 

DOG
Inlet/Outlet

M18X1,5

105 T03-0113 14,0 20,1 250 A B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

106 T03-0114 14,0 20,1 250 C B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

107 T03-0115 14,0 20,1 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

108 T03-0116 14,0 20,1 250 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

ORDER CODES

33



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

109 T03-0117 14,0 20,1 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

110 T03-0118 14,0 20,1 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

111 T03-0119 14,0 20,1 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

112 T03-0120 14,0 20,1 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

113 T03-0121 14,0 20,1 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

114 T03-0122 14,0 20,1 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

115 T03-0123 14,0 20,1 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

116 T03-0124 14,0 20,1 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

117 T03-0125 14,0 20,1 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

118 T03-0126 14,0 20,1 250 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

119 T03-0127 14,0 20,1 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

120 T03-0128 14,0 20,1 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

ORDER CODES

34



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

121 T03-0129 14,0 20,1 250 A B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

122 T03-0130 14,0 20,1 250 C B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

123 T03-0131 14,6 21,0 250 A B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

124 T03-0132 14,6 21,0 250 C B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

125 T03-0133 16,8 24,1 250 A B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

126 T03-0134 16,8 24,1 250 C B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

127 T03-0135 16,8 24,1 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

128 T03-0136 16,8 24,1 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

129 T03-0137 16,8 24,1 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

130 T03-0138 16,8 24,1 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

131 T03-0139 16,8 24,1 250 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

132 T03-0140 16,8 24,1 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

133 T03-0141 16,8 24,1 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

ORDER CODES

35



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

134 T03-0142 16,8 24,1 250 A D
SHAFT DRIVE 

DOG

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

135 T03-0143 16,8 24,1 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

136 T03-0144 16,8 24,1 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

137 T03-0145 16,8 24,1 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

138 T03-0146 16,8 24,1 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

139 T03-0147 16,8 24,1 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

140 T03-0148 16,8 24,1 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

141 T03-0149 16,8 24,1 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

142 T03-0150 16,8 24,1 250 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

143 T03-0151 16,8 24,1 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

144 T03-0152 16,8 24,1 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

145 T03-0153 16,8 24,1 250 A B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

146 T03-0154 16,8 24,1 250 C B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

147 T03-0155 19,2 27,2 250 A B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

ORDER CODES

36



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

148 T03-0156 19,2 27,2 250 C B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

149 T03-0157 19,2 27,2
250

A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

150 T03-0158 19,2 27,2 250 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

151 T03-0159 19,2 27,2 250 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

152 T03-0160 19,2 27,2 250 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

153 T03-0161 19,2 27,2 250 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

154 T03-0162 19,2 27,2 250 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

155 T03-0163 19,2 27,2 250 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

156 T03-0164 19,2 27,2 250 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

157 T03-0165 19,2 27,2 250 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

158 T03-0166 19,2 27,2 250 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

159 T03-0167 19,2 27,2 250 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

160 T03-0168 19,2 27,2 250 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

161 T03-0169 19,2 27,2 250 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

ORDER CODES

37



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

162 T03-0170 19,2 27,2 250 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

163 T03-0171 19,2 27,2
250

A B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

164 T03-0172 19,2 27,2 250 C B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

165 T03-0173 22,9 32,9 210 A B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

166 T03-0174 22,9 32,9 210 C B 1/8 Taper

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

167 T03-0175 22,9 32,9 210 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

168 T03-0176 22,9 32,9 210 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

169 T03-0177 22,9 32,9 210 A J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

170 T03-0178 22,9 32,9 210 C J 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

171 T03-0179 22,9 32,9 210 A F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

172 T03-0180 22,9 32,9 210 C F 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

173 T03-0181 22,9 32,9 210 A S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

174 T03-0182 22,9 32,9 210 C S 1/5 Taper

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

ORDER CODES

38



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

175 T03-0183 22,9 32,9 210 A J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

176 T03-0184 22,9 32,9 210 C J
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

177 T03-0185 22,9 32,9 210 A S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

178 T03-0186 22,9 32,9 210 C S
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

179 T03-0187 22,9 32,9 210 A F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

180 T03-0188 22,9 32,9 210 C F
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

181 T03-0189 22,9 32,9 210 A B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

182 T03-0190 22,9 32,9 210 C B
DIN 5482 / 9 

Teeth 016,5

Inlet

040-M6x1x13 (4) D

Outlet

030-M6x1x13 (4) D

183 T03-0191 28,1 40,4 175 A B 1/8 Taper
Inlet/Outlet

040-M6x1x13 (4) D

184 T03-0192 28,1 40,4 175 C B 1/8 Taper
Inlet/Outlet

040-M6x1x13 (4) D

185 T03-0193 28,1 40,4 175 A

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

186 T03-0194 28,1 40,4 175 C

G

SAE A

2 HOLE

SAE 16-4 / 9 

Teeth 015,5

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

187 T03-0195 28,1 40,4 175 A J 1/5 Taper
040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

ORDER CODES

39



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
ShaftSType Hole Type

188 T03-0196 28,1 40,4 175 C J 1/5 Taper

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

189 T03-0197 28,1 40,4 175 A F 1/5 Taper

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

190 T03-0198 28,1 40,4 175 C F 1/5 Taper

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

191 T03-0199 28,1 40,4 175 A S 1/5 Taper

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

192 T03-0200 28,1 40,4 175 C S 1/5 Taper

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

193 T03-0201 28,1 40,4 175 A J
DIN 5482 / 9 

Teeth 016,5

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

194 T03-0202 28,1 40,4 175 C J
DIN 5482 / 9 

Teeth 016,5

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

195 T03-0203 28,1 40,4 175 A S
DIN 5482 / 9 

Teeth 016,5

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

196 T03-0204 28,1 40,4 175 C S
DIN 5482 / 9 

Teeth 016,5

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

197 T03-0205 28,1 40,4 175 A F
DIN 5482 / 9 

Teeth 016,5

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

198 T03-0206 28,1 40,4 175 C F
DIN 5482 / 9 

Teeth 016,5

INLET

040-M6x1x13 (4) D

Outlet

035-M6x1x13 (4)

199 T03-0207 28,1 40,4 175 A B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

040-M6x1x13 (4) D

200 T03-0208 28,1 40,4 175 C B
DIN 5482 / 9 

Teeth 016,5
Inlet/Outlet

040-M6x1x13 (4) D

ORDER CODES

40



w w w . h y d r e x . c o m . t r

No Order Code

Displace

ment

cm3/dev

Max. 

Pressure

(bar)

Max. 

Speed

(rpm)

Controlle

d Flow @ 

lpm

Rotation

A – Left

C - Right

Mounting

Flange

Type

ShaftSType Hole Type

202 T03-0401 25 195 2500 8 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

202 T03-0402 25 195 2500 8 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

203 T03-0403 25 195 2500 10 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

204 T03-0404 25 195 2500 10 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

205 T03-0405 25 195 2500 12 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

206 T03-0406 25 195 2500 12 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

207 T03-0407 25 195 2500 12 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

208 T03-0408 25 195 2500 12 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

209 T03-0409 25 195 2500 12 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

210 T03-0410 25 195 2500 12 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

211 T03-0411 25 195 2500 12 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

212 T03-0412 25 195 2500 12 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

ORDER CODES

With Priority Flow Divier Valve for Forklift

41



w w w . h y d r e x . c o m . t r

No Order Code

Displace

ment

cm3/dev

Max. 

Pressure

(bar)

Max. 

Speed

(rpm)

Controlle

d Flow @ 

lpm

Rotation

A – Left

C - Right

Mounting

Flange

Type

ShaftSType Hole Type

213 T03-0413 28 180 2500 8 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

214 T03-0414 28 180 2500 8 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

15 T03-0415 28 180 2500 10 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

216 T03-0416 28 180 2500 10 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

217 T03-0417 28 180 2500 12 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

218 T03-0418 28 180 2500 12 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

9 Teeth 015,5

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

219 T03-0419 28 180 2500 8 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

220 T03-0420 28 180 2500 8 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

221 T03-0421 28 180 2500 10 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

222 T03-0422 28 180 2500 10 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

223 T03-0423 28 180 2500 12 A
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

224 T03-0424 28 180 2500 12 C
G TYPE

SAE A

2 HOLE 082,50

SAE A 16/32DP

11 Teeth 019

Inlet

022-040-M8x4

Outlet

½"-3/8"BSPP

ORDER CODES

With Priority Flow Divier Valve for Forklift

42



2P1 SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

43



w w w . h y d r e x . c o m . t r

TECHNICAL DATA

Model
Displacement

cm3/dev

Flow lpm @

(1500 rpm)

Max. Outlet

Pressure

Min. Speed

(rpm)

Max. Speed

(rpm)

2P1-3050 16,7 24,0 250 600 2500

2P1-3070 22,7 32,7 250 600 2500

2P1-3090 28,8 41,5 250 600 2500

2P1-3105 33,3 47,7 250 600 2500

2P1-3120 37,9 54,5 210 600 2500

2P1-3135 42,6 64,0 210 600 2500

2P1-3146 45,5 66,5 210 600 2500

2P1-3158 49,4 71,8 210 600 2500

2P1-3180 56,1 81,2 175 600 2200

44



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

kw

45



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

Model
Displacement

cm3/dev

A

mm

B

mm

2P1-3050 16,7 115,3 48,4

2P1-3070 22,7 120,1 53,2

2P1-3090 28,8 125,0 58,1

2P1-3105 33,3 142,5 68,6

2P1-3120 37,9 145,8 70,4

2P1-3135 42,6 149,8 71,0

2P1-3146 45,5 152,2 73,4

2P1-3158 49,4 156,0 76,2

2P1-3180 56,1 162,4 77,5

46



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

B Type G Type

H Type L Type

S Type P Type

47



w w w . h y d r e x . c o m . t r

Hole type
I II III

A B C A B C D A

01
Inlet

Outlet

04
Inlet

Outlet

07
Inlet

Outlet

09
Inlet

Outlet

10
Inlet

Outlet

11
Inlet

Outlet

21
Inlet

Outlet

HOLES TYPES

48



w w w . h y d r e x . c o m . t r

Taper Type

SHAFT TYPES

P Type

S Type S Type

S Type T Type

49



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange

Type

Shaft Type Hole Type

1 T03-0441 22,7 32,7 250 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

2 T03-0442 22,7 32,7 250 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

3 T03-0443 28,8 41,5 250 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

4 T03-0444 28,8 41,5 250 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

5 T03-0445 33,3 47,7 250 A B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

6 T03-0446 33,3 47,7 250 C B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

7 T03-0447 33,3 47,7 250 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

8 T03-0448 33,3 47,7 250 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

9 T03-0449 37,8 54,5 210 A B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

10 T03-0450 37,8 54,5 210 C B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

11 T03-0451 37,8 54,5 210 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

12 T03-0452 37,8 54,5 210 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

13 T03-0453 42,6 64,0 210 A B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

14 T03-0454 42,6 64,0 210 C B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

15 T03-0455 42,6 64,0 210 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

16 T03-0456 42,6 64,0 210 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

17 T03-0457 45,4 66,5 210 A B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

ORDER CODES

50



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange

Type

Shaft Type Hole Type

18 T03-0458 45,4 66,5 210 C B Parallel
Inlet / Outlet

Ø48-

M8x1,25x13(4)

19 T03-0459 45,4 66,5 210 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

20 T03-0460 45,4 66,5 210 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

21 T03-0461 49,4 71,8 210 A B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

22 T03-0462 49,4 71,8 210 C B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

23 T03-0463 49,4 71,8 210 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

24 T03-0464 49,4 71,8 210 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

25 T03-0465 49,4 71,8 210 A

G

SAE A

2 HOLE

7/8-13 Teeth

Inlet / 028-

58,8x30,2

Outlet / 0,22-

52,4x26,2

26 T03-0466 49,4 71,8 210 C

G

SAE A

2 HOLE

7/8-13 Teeth

Inlet / 028-

58,8x30,2

Outlet / 0,22-

52,4x26,2

27 T03-0467 56,1 81,5 175 A B Parallel

Inlet / Outlet

Ø48-

M8x1,25x13(4)

28 T03-0468 56,1 81,5 175 C B Parallel
Inlet / Outlet

Ø48-

M8x1,25x13(4)

29 T03-0469 56,1 81,5 175 A B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

30 T03-0470 56,1 81,5 175 C B 1/8 Taper

Inlet / 051-

M10x1,5x13(4)

Outlet / Ø40-

M8x1,25x13(4)

ORDER CODES

51



3P1 SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

52



w w w . h y d r e x . c o m . t r

TECHNICAL DATA

Model
Displacement

cm3/dev

Flow lpm @

(1500 rpm)

Max. Outlet

Pressure

Min. Speed

(rpm)

Max. Speed

(rpm)

3P1-4150 47,0 68,2 248 600 2250

3P1-4180 56,1 81,8 248 600 2250

3P1-4210 65,2 95,5 248 600 2250

3P1-4250 77,0 113,7 248 600 2250

3P1-4300 91,9 136,4 207 600 2250

3P1-4330 101,5 150,0 193 600 2100

3P1-4380 116,7 173,0 172 600 2000

53



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

54



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

Model
Displacement

cm3/dev

A

mm

B

mm

3P1-4150 47,0 167,4 81,3

3P1-4180 56,1 172,3 83,6

3P1-4210 65,2 177,1 86,1

3P1-4250 77,0 183,5 89,2

3P1-4300 91,9 191,2 93,2

3P1-4330 101,5 196,6 95,8

3P1-4380 116,7 204,6 99,9

55



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

B Type D Type

E Type G Type

M Type

56



w w w . h y d r e x . c o m . t r

HOLES TYPES

Hole type
I II

A B C D

01
Inlet 69.85 35.71 M10X1.5X30 33.3 1 ½ BSPP X 25

Outlet 52.32 26.21 M10X1.5X30 25.4 1 ¼ BSPP X 25

02

Inlet 69.85 35.71 M12X1.75X30 33.3 1 7/8-12 UN X 25

Outlet 58.92 29.97 M12X1.75X30 31.7 1 5/8-12 UN X 25

57



w w w . h y d r e x . c o m . t r

SHAFT TYPES

Taper Type S Type

P Type S Type

58



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C - Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0471 47,0 68,2 248 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

2 T03-0472 47,0 68,2 248 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

3 T03-0473 56,1 81,8 248 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

4 T03-0474 56,1 81,8 248 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

5 T03-0475 65,1 95,5 248 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

6 T03-0476 65,1 95,5 248 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

7 T03-0477 77,0 113,7 248 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

8 T03-0478 77,0 113,7 248 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

9 T03-0479 91,9 136,4 207 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

10 T03-0480 91,9 136,4 207 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

11 T03-0481 101,5 150,0 193 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

12 T03-0482 101,5 150,0 193 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

13 T03-0483 116,7 173,0 172 A B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

14 T03-0484 116,7 173,0 172 C B Parallel

Inlet / 69,85x35,71 D 

M12x1,75x30(4)

Outlet / 52,32x26,21 

D M10x1,5x30(4)

ORDER CODES

59



1PH SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

60



w w w . h y d r e x . c o m . t r

TECHNICAL DATA

Model
Displacement

cm3/dev

Flow lpm @

(1500 rpm)

Max. Outlet

Pressure

Min. Speed

(rpm)

Max. Speed

(rpm)

1PH-082 8,2 11,8 250 600 3000

1PH-095 9,5 13,6 250 600 3000

1PH-119 11,9 17,1 250 600 3000

1PH-140 14,0 20,1 250 600 3000

1PH-168 16,8 24,1 250 600 3000

1PH-190 19,2 27,3 250 600 3000

1PH-229 22,9 32,9 210 600 3000

1PH-281 28,1 40,4 175 600 2500

61



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

62



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

Model
Displacement

cm3/dev

A

mm

B

mm

1PH-082 8,2 100,5 48,4

1PH-095 9,5 105,2 50,7

1PH-119 11,9 108,0 52,1

1PH-140 14,0 113,0 54,6

1PH-168 16,8 131,5 63,9

1PH-190 19,2 142,0 66,8

1PH-229 22,9 150,5 73,3

1PH-281 28,1 161,5 78,8

63



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

95,2

B Type C Type

D Type E Type

F Type G Type

64



w w w . h y d r e x . c o m . t r

MOUNTING FLANGE

8

J Type S Type

U Type Y Type

R Type

65



w w w . h y d r e x . c o m . t r

REAR COVERS

Item
Controlled flow

I/dev – I/min

Pressure Setting Range
bar-psi

1 9
(90 TO 150)

1305 TO 2030
2 12

3 16

Z Integral Flow Control Valves

Standart Controlled Flow

L Load Sensing

V Rear Cover With Relief

66



w w w . h y d r e x . c o m . t r

REAR COVERS

Outlet

½ BSPP

7/8-14 UN-2B

M18X1.5

Hole Type Inlet Outlet

10 ¾ BSPP ½ BSPP

19
1 1/16-12 

UN-2B

7/8-14 UN-

2B

P Type

R Type

67



w w w . h y d r e x . c o m . t r

HOLE TYPES

Hole type
I II III IV

A B C A B C A B C A B C

01
Inlet 35 12 M6X1X13

Outlet 35 12 M6X1X13

03
Inlet 39.8 20 M6X1X13

Outlet 35 15 M6X1X13

04
Inlet 35 15 M6X1X13

Outlet 35 15 M6X1X13

10
Inlet 20 ¾ BSP

Outlet 20 ½ BSP

11
Inlet 39.8 20 M8X1,25X13

Outlet 30.2 15 M6X1X13

12
Inlet 30.2 15 M6X1X13

Outlet 30.2 15 M6X1X13

13
Inlet 39.8 20 M18X1,25X13

Outlet 39.8 20 M18X1,25X13

19
Inlet 19 1 1/16-12UNX16

Outlet 15 7/8-14UNX16

24
Inlet 20 1 5/16-12UNX16

Outlet 19 1 1/16-12UNX16

68



w w w . h y d r e x . c o m . t r

SHAFT TYPES

MAKS. MAKS.

MAKS.

MAKS.

MAKS. MAKS.

MAKS.
MAKS.

MAKS.

T Type

P Type R Type

S Type S Type

S Type S Type

S Type

69



OUTRIGGER BEARINGS

70w w w . h y d r e x . c o m . t r



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Rated

Pressure

(bar)

Rotation

A – Left

C – Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0425 8,2 11,8 250 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

2 T03-0426 8,2 11,8 250 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

3 T03-0427 9,5 13,6 250 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

4 T03-0428 9,5 13,6 250 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

5 T03-0429 11,9 17,1 250 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

6 T03-0430 11,9 17,1 250 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

7 T03-0431 14,0 20,1 250 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

8 T03-0432 14,0 20,1 250 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

9 T03-0433 16,8 24,1 250 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

10 T03-0434 16,8 24,1 250 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

11 T03-0435 19 27,3 250 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

12 T03-0436 19 27,3 250 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

13 T03-0437 22,9 32,9 210 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

14 T03-0438 22,9 32,9 210 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

15 T03-0439 28,1 40,4 175 A B 1/8 Taper
Inlet / Outlet

040-M6x1x13(4) D

16 T03-0440 28,1 40,4 175 C B 1/8 Taper
Inlet / Outlet

040-M6x1x13(4) D

ORDER CODES

71



1PA SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

72



w w w . h y d r e x . c o m . t r

TECHNICAL DATA

Model
Displacement

cm3/dev
Max. Pressure

Max. Speed

(rpm)

Min. Speed

(rpm)

1PA-A04 4,0 175

3500

650

1PA-A06 6,1 175

1PA-A08 8,2 175

1PA-A09 9,5 175

1PA-A12 11,9 175

1PA-A15 14,0 175

1PA-A17 16,8 175

1PA-A19 19,2 175

1PA-A23 22,9 150 3000

73



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

Model A B
INLET OUTLET

ROTATION

D E F d e f

1PA-A04 89,3 42,2 30,2 15 M6x1 30,2 15 M6x1

RIGHT

OR

LEFT

1PA-A06 92,6 43,8 30,2 15 M6x1 30,2 15 M6x1

1PA-A08 95,8 45,5 30,2 15 M6x1 30,2 15 M6x1

1PA-A09 97,8 46,5 30,2 15 M6x1 30,2 15 M6x1

1PA-A12 101,6 48,4 39,8 20 M8x1,25 30,2 15 M6x1

1PA-A15 105,9 50,5 39,8 20 M8x1,25 30,2 15 M6x1

1PA-A17 109,3 52,2 39,8 20 M8x1,25 30,2 15 M6x1

1PA-A19 125,1 60,0 39,8 20 M8x1,25 30,2 15 M6x1

1PA-A23 130,9 63,0 39,8 20 M8x1,25 30,2 15 M6x1

74



w w w . h y d r e x . c o m . t r

No Order Code

Displaceme

nt

cm3/dev

Flow lpm @

(1500 rpm)

Max. 

Pressure

(bar)

Rotation

A – Left

C – Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0485 4,0 5,7 175 A B 1/8 Taper
Inlet / Outlet

030-M6x1x13(4) 

2 T03-0486 4,0 5,7 175 C B 1/8 Taper
Inlet / Outlet

030-M6x1x13(4) 

3 T03-0487 6,1 8,7 175 A B 1/8 Taper
Inlet / Outlet 

030-M6x1x13(4) 

4 T03-0488 6,1 8,7 175 C B 1/8 Taper
Inlet / Outlet

030-M6x1x13(4) 

5 T03-0489 8,2 11,8 175 A B 1/8 Taper
Inlet / Outlet 

030-M6x1x13(4) 

6 T03-0490 8,2 11,8 175 C B 1/8 Taper
Inlet / Outlet

030-M6x1x13(4) 

7 T03-0491 9,5 13,6 175 A B 1/8 Taper
Inlet / Outlet

030-M6x1x13(4) 

8 T03-0492 9,5 13,6 175 C B 1/8 Taper
Inlet / Outlet

030-M6x1x13(4) 

9 T03-0493 11,9 17,1 175 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

10 T03-0494 11,9 17,1 175 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

11 T03-0495 14,6 20,1 175 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

12 T03-0496 14,6 20,1 175 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

13 T03-0497 17,0 24,1 175 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

14 T03-0498 17,0 24,1 175 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

15 T03-0499 19,2 27,3 175 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

16 T03-0500 19,2 27,3 175 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

17 T03-0501 22,9 32,9 175 A B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

18 T03-0502 22,9 32,9 175 C B 1/8 Taper

Inlet / 040-

M6x1x13(4)

Outlet / Ø30-

M6x1x13(4)

ORDER CODES

75



1P-1,5P-2P SERIES
ALUMINIUM 

HYDRAULIC 

GEAR PUMPS

w w w . h y d r e x . c o m . t r

76



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

77



w w w . h y d r e x . c o m . t r

PUMP APPLICATION DATA

SU
C

TI
O

N
 A

N
D

 R
ET

U
R

N
 L

IN
E

P
R

ES
SU

R
E 

LI
N

E

PIPE SIZING

78



w w w . h y d r e x . c o m . t r

TECHNICAL DATA

Model
Displacement

cm3/dev

Flow (rpm)

l/min

Max.Outlet

Pressure

bar

Min. Speed

(rpm)

Max.Speed

rpm

1PN-040 4,0 5,7 250 600 3000

1PN-061 6,1 8,7 250 600 3000

1PN-082 8,2 11,8 250 600 3000

1PN-095 9,5 13,6 250 600 3000

1PN-119 11,9 17,1 250 600 3000

1PN-140 14,0 20,1 250 600 3000

1PN-168 16,8 24,1 250 600 3000

1PN-192 19,2 27,6 250 600 3000

1PN-229 22,9 32,9 210 600 2500

1PN-281 28,1 40,4 175 600 2500

1PH-082 8,2 11,8 250 600 3000

1PH-095 9,5 13,6 250 600 3000

1PH-119 11,9 17,1 250 600 3000

1PH-140 14,0 20,1 250 600 3000

1PH-168 16,8 24,1 250 600 3000

1PH-190 19,2 27,3 250 600 3000

1PH-229 22,9 32,9 210 600 2500

1PH-281 28,1 40,4 175 600 2500

1.5PH-160 16,0 22,8 225 600 3000

1.5PH-222 22,2 31,6 225 600 3000

1.5PH-260 26,0 37,0 225 600 3000

1.5PH-280 28,0 39,9 225 600 3000

1.5PH-310 31,0 44,1 210 600 3000

1.5PH-357 35,7 50,8 210 600 2500

1.5PH-406 40,6 57,8 175 600 2500

2P1-3050 16,7 24,0 250 600 2500

2P1-3070 22,7 32,7 250 600 2500

2P1-3090 28,8 41,5 250 600 2500

2P1-3105 33,3 47,7 250 600 2500

2P1-3120 37,9 54,5 250 600 2500

2P1-3135 42,6 64,0 210 600 2500

2P1-3146 45,5 66,5 210 600 2500

2P1-3158 49,4 71,8 210 600 2500

2P1-3180 56,1 81,5 175 600 2200

79



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

1PH Pump

80



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

1PN Pump

81



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

1,5PH Pump

82



w w w . h y d r e x . c o m . t r

PERFORMANCE CURVES

2P1 Pump

83



w w w . h y d r e x . c o m . t r

PUMP TECHNICAL DATA

Model
Displacement

Cm3/dev
A B C D

1PH-082 8,2 50,7 82,5 61,7 116,0

1PH-095 9,5 52,1 85,3 83,1 118,7

1PH-119 11,9 54,7 90,4 65,6 124,0

1PH-140 14,0 63,9 108,8 74,9 142,5

1PH-168 16,8 66,9 114,8 77,8 148,5

1PH-190 19,0 69,2 119,4 80,2 153,0

1PH-229 22,9 73,3 127,7 84,3 161,4

1PH-281 28,1 78,8 138,7 89,8 172,5

1PH Pump Tandem

Pump Combination

Model
Displacement

Cm3/dev
A B C D

1PN-040 4,0 42,2 65,4 53,2 99,0

1PN-061 6,1 43,8 68,6 54,8 102,3

1PN-082 8,2 45,5 72,0 56,5 105,7

1PN-095 9,5 46,5 73,9 57,5 107,6

1PN-119 11,9 48,4 77,7 59,4 114,4

1PN-140 14,0 50,0 81,0 61,0 114,7

1PN-168 16,8 52,2 85,4 63,2 119,1

1PN-192 19,2 60,1 101,2 71,1 134,9

1PN-229 22,9 63,0 107,0 74,0 140,7

1PN-281 28,1 67,0 115,1 78,0 148,8

1PN Pump Tandem

Pump Combination

84



w w w . h y d r e x . c o m . t r

1PH & 1PN PUMP FLANGES

B Type D Type

F Type G Type

J Type S Type

85



w w w . h y d r e x . c o m . t r

1PH & 1PN  HOLE TYPES

Hole type
I II III IV

A A A B C B C

01
Inlet 35 12 M6X1X13

Outlet 35 12 M6X1X13

03
Inlet 39.8 20 M6X1X13

Outlet 35 15 M6X1X13

04
Inlet 35 15 M6X1X13

Outlet 35 15 M6X1X13

10
Inlet 20 ¾ BSP

Outlet 20 ½ BSP

11
Inlet 39.8 20 M8X1,25X13

Outlet 30.2 15 M6X1X13

12
Inlet 30.2 15 M6X1X13

Outlet 30.2 15 M6X1X13

13
Inlet 39.8 20 M18X1,25X13

Outlet 39.8 20 M18X1,25X13

19
Inlet 19 1 1/16-12UNX16

Outlet 15 7/8-14UNX16

24
Inlet 20 1 5/16-12UNX16

Outlet 19 1 1/16-12UNX16

U Type Y Type

86



w w w . h y d r e x . c o m . t r

1PH & 1PN PUMP REAR COVERS

Outlet

½ BSPP

7/8-14 UN-2B

M18X1.5

Hole Type Inlet Outlet

10 ¾ BSPP ½ BSPP

19 1 1/16-12 UN-2B 7/8-14 UN-2B

Item
Controlled flow

I/dev – I/min

Pressure Setting Range
bar-psi

1 9
(90 TO 150)

1305 TO 2030
2 12

3 16

P Type R Type

PV (with Relief Valve)

Z (with Integral Flow Control 
Valves)

87



w w w . h y d r e x . c o m . t r

1PH & 1PN PUMP DRIVE SHAFTS

P Type R Type

S Type S Type

S Type S Type

T Type

88



w w w . h y d r e x . c o m . t r

1PH & 1PN OUTRIGGER BEARING

89



w w w . h y d r e x . c o m . t r

1,5PH TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
A B C D

1.5PH-160 16,0 63,8 106,0 75,2 143,5

1.5PH-222 22,2 67,6 113,6 79,0 151,0

1.5P1-I-260 26,0 70,0 118,4 81,4 155,8

1.5PH-280 28,0 71,1 120,6 82,5 158,0

1.5PH-310 31,0 72,9 124,3 84,3 161,7

1.5PH-357 35,7 75,8 130,0 113,2 167,4

1.5PH-406 40,6 78,7 136,0 90,1 173,4

90



w w w . h y d r e x . c o m . t r

1,5PH/1PH TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
C D

1PH-082 8,2 74,7 129,2

1PH-095 9,5 76,1 131,9

1PH-119 11,9 78,6 137,0

1PH-140 14,0 87,9 155,5

1PH-168 16,8 90,8 161,4

1PH-190 19,0 93,2 166,1

1PH-229 22,9 97,3 174,3

1PH-281 28,1 102,8 185,4

Model
Displacement

Cm3/dev
A B

1.5PH-160 16,0 147,7 81,1

1.5PH-222 22,2 157,3 85,0

1.5P1-I-260 26,0 162,0 87,3

1.5PH-280 28,0 164,0 88,4

1.5PH-310 31,0 167,7 90,2

1.5PH-357 35,7 173,7 93,1

1.5PH-406 40,6 179,5 96,0

Rear Pump Front Pump

Rear

Pump

Front 

Pump

Width Height Width Height

84,0 100,0 104,0 129,5

91



w w w . h y d r e x . c o m . t r

1,5PH/1PH TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
C D

1PN-040 4,0 66,2 112,0

1PN-061 6,1 67,8 115,3

1PN-082 8,2 69,5 118,6

1PN-095 9,5 70,5 120,6

1PN-119 11,9 72,4 124,4

1PN-140 14,0 74,0 127,7

1PN-168 16,8 76,2 132,1

1PN-192 19,2 84,0 147,8

1PN-229 22,9 87,0 153,6

1PN-281 28,1 91,0 161,8

Model
Displacement

Cm3/dev
A B

1.5PH-160 16,0 147,7 81,1

1.5PH-222 22,2 157,3 85,0

1.5PH-260 26,0 162,0 87,3

1.5PH-280 28,0 164,0 88,4

1.5PH-310 31,0 167,7 90,2

1.5PH-357 35,7 173,7 93,1

1.5PH-406 40,6 179,5 96,0

Rear Pump Front Pump

Rear

Pump

Front 

Pump

Width Height Width Height

84,0 100,0 104,0 129,5

92



w w w . h y d r e x . c o m . t r

1,5PH PUMP MOUNTING FLANGES

G Type

G Type

B Type

93



w w w . h y d r e x . c o m . t r

2P1 TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
A B C D

2P1-3050 16,7 54,3 87,0 65,7 124,1

2P1-3070 22,7 56,7 91,8 68,1 128,9

2P1-3090 28,8 59,1 96,6 70,5 133,7

2P1-3105 33,3 68,1 114,1 79,5 151,2

2P1-3120 37,9 69,8 117,8 81,2 154,9

2P1-3135 42,6 71,7 121,6 83,1 158,7

2P1-3146 45,5 72,9 123,9 84,3 161,0

2P1-3158 49,4 75,9 127,0 87,3 164,1

2P1-3180 56,1 77,5 133,4 88,9 170,5

94



w w w . h y d r e x . c o m . t r

2P1/1PH TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
C D

1PH-060 6,0 103,1 155,2

1PH-082 8,2 105,4 159,9

1PH-095 9,5 106,8 162,6

1PH-119 11,9 109,3 167,7

1PH-140 14,0 118,6 186,2

1PH-168 16,8 121,5 192,1

1PH-190 19,0 123,9 196,8

1PH-229 22,9 128,0 205,0

1PH-281 28,1 133,5 216,1

Model
Displacement

Cm3/dev
A B

2P1-3050 16,7 54,3 87,0

2P1-3070 22,7 56,7 91,8

2P1-3090 28,8 59,1 96,6

2P1-3105 33,3 68,1 114,1

2P1-3120 37,9 69,8 117,8

2P1-3135 42,6 71,7 121,6

2P1-3146 45,5 72,9 123,9

2P1-3158 49,4 75,9 127,0

2P1-3180 56,1 77,5 133,4

Rear Pump Front Pump

Rear

Pump

Front 

Pump

Width Height Width Height

84,0 100,0 117,3 149,4

95



w w w . h y d r e x . c o m . t r

2P1/1PN TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
C D

1PN-040 4,0 96,9 142,7

1PN-061 6,1 98,5 146,0

1PN-082 8,2 100,2 149,3

1PN-095 9,5 101,2 151,3

1PN-119 11,9 103,1 155,1

1PN-140 14,0 104,7 158,4

1PN-168 16,8 106,9 162,8

1PN-192 19,2 114,7 178,5

1PN-229 22,9 117,7 184,3

1PN-281 28,1 121,7 192,5

Model
Displacement

Cm3/dev
A B

2P1-3050 16,7 54,3 87,0

2P1-3070 22,7 56,7 91,8

2P1-3090 28,8 59,1 96,6

2P1-3105 33,3 68,1 114,1

2P1-3120 37,9 69,8 117,8

2P1-3135 42,6 71,7 121,6

2P1-3146 45,5 72,9 123,9

2P1-3158 49,4 75,9 127,0

2P1-3180 56,1 77,5 133,4

Rear Pump Front Pump

Rear

Pump

Front 

Pump

Width Height Width Height

84,0 100,0 117,3 149,4

96



w w w . h y d r e x . c o m . t r

2P1/1,5PH TANDEM GEAR PUMPS

Model
Displacement

Cm3/dev
C D

1.5PH-160 16,0 87,2 155,5

1.5PH-260 26,0 91,0 163,0

1.5PH-280 28,0 93,4 167,8

1.5PH-310 31,0 94,5 170,0

1.5PH-222 22,2 96,3 173,7

1.5PH-357 35,7 125,2 179,4

1.5PH-406 40,6 102,1 185,4

Model
Displacement

Cm3/dev
A B

2P1-3050 16,7 54,3 87,0

2P1-3070 22,7 56,7 91,8

2P1-3090 28,8 59,1 96,6

2P1-3105 33,3 68,1 114,1

2P1-3120 37,9 69,8 117,8

2P1-3135 42,6 71,7 121,6

2P1-3146 45,5 72,9 123,9

2P1-3158 49,4 75,9 127,0

2P1-3180 56,1 77,5 133,4

Rear Pump Front Pump

Rear

Pump

Front 

Pump

Width Height Width Height

104,0 129,5 117,3 149,4

97



w w w . h y d r e x . c o m . t r

2P1 PUMPS FLANGES

S

B Type

G Type

S Type

98



w w w . h y d r e x . c o m . t r

2P1 & 1.SPH  HOLES & SHAFT TYPES

HOLE TYPES

SHAFT TYPES

Hole type
I II III IV

A B C A B C D A B C A

01
Inlet 48.14 28 M8X1,25X12,7

Outlet 48.14 22 M8X1,25X12,7

04
Inlet 52.4 28 M10X1,5X12,7 26,2

Outlet 1 1/16-12UN-2BX19

07
Inlet 51 28 M10X1,5X12,7 52.4 28 M10X1,5X12,7

Outlet 40 20 M8X1,25X12,7 47,6 22 M10X1,5X12,7

09
Inlet 52,4 25 M10X1,5X12,7

Outlet 47,6 19 M10X1,5X12,7

Inlet

Outlet

Inlet 1 BSPPX20

Outlet ¾ BSPPX20

26
Inlet 55 25 M8X1,25X13

Outlet M27X2X19

Taper Type P Type

S Type S Type

99



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange

Type
Shaft Type Hole Type

1 T03-0209 4,0 5,7 250 A B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

2 T03-0210 4,0 5,7 250 C B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

3 T03-0211 6,1 8,7 250 A B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

4 T03-0212 6,1 8,7 250 C B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

5 T03-0213 8,2 11,8 250 A B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

6 T03-0214 8,2 11,8 250 C B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

7 T03-0215 9,5 13,1 250 A B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

8 T03-0216 9,5 13,1 250 C B
1/8

/Tap.

Inlet/Outlet

Ø 30-M6x1x13(4)◊

9 T03-0217 11,9 17,1 250 A B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

10 T03-0218 11,9 17,1 250 C B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

11 T03-0219 14.0 20,1 250 A B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

12 T03-0220 14.0 20,1 250 C B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

13 T03-0221 16,8 24,1 250 A B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

14 T03-0222 16,8 24,1 250 C B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

15 T03-0223 19,2 27,2 250 A B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

16 T03-0224 19,2 27,2 250 C B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

ORDER CODES

1PN/1PN Series (Front)

100



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange

Type
Shaft Type Hole Type

17 T03-0225 22,9 32,9 210 A B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

18 T03-0226 22,9 32,9 210 C B
1/8

/Tap.

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

19 T03-0227 28,1 40,4 175 A B
1/8

/Tap.
Inlet/Outlet Ø40-M6x1x13 (4) #

20 T03-0228 28,1 40,4 175 C B
1/8

/Tap.
Inlet/Outlet Ø40-M6x1x13 (4) #

21 T03-0229 4,0 5,7 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

22 T03-0230 4,0 5,7 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

23 T03-0231 6,1 8,7 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

24 T03-0232 6,1 8,7 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

25 T03-0233 8,2 11,8 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

26 T03-0234 8,2 11,8 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

27 T03-0235 9,5 13,1 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

28 T03-0236 9,5 13,1 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

29 T03-0237 11,9 17,1 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

30 T03-0238 11,9 17,1 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series (Front)

101



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange Type
Shaft Type Hole Type

31 T03-0239 14.0 20,1 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

32 T03-0240 14.0 20,1 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

33 T03-0241 16,8 24,1 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

34 T03-0242 16,8 24,1 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

35 T03-0243 19,2 27,2 250 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

36 T03-0244 19,2 27,2 250 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

37 T03-0245 22,9 32,9 210 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

38 T03-0246 22,9 32,9 210 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

39 T03-0247 28,1 40,4 175 A J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

40 T03-0248 28,1 40,4 175 C J
1/5

/Tap.

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

41 T03-0249 4,0 5,7 250 A
G SAE A

2/Hole

SAE  16-4

9/Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

42 T03-0250 4,0 5,7 250 C
G SAE A

2/Hole

SAE  16-4

9/Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

43 T03-0251 6,1 8,7 250 A
G SAE A

2/Hole

SAE  16-4

9/Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

44 T03-0252 6,1 8,7 250 C
G SAE A

2/Hole

SAE  16-4

9/Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

45 T03-0253 8,2 11,8 250 A
G SAE A

2/Hole

SAE  16-4

9/Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

46 T03-0254 8,2 11,8 250 C
G SAE A

2/Hole

SAE  16-4

9/Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

47 T03-0255 9,5 13,1 250 A
G SAE A

2/Hole

SAE  16-4

9Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

48 T03-0256 9,5 13,1 250 C
G SAE A

2/Hole

SAE  16-4

9Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

49 T03-0257 11,9 17,1 250 A
G SAE A

2/Hole

SAE  16-4

9Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

50 T03-0258 11,9 17,1 250 C
G SAE A

2/Hole

SAE  16-4

9Teeth Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series (Front)

102



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange Type
Shaft Type Hole Type

51 T03-0259 14.0 20,1 250 A
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

52 T03-0260 14.0 20,1 250 C
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

53 T03-0261 16,8 24,1 250 A
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

54 T03-0262 16,8 24,1 250 C
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

55 T03-0263 19,2 27,2 250 A
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

56 T03-0264 19,2 27,2 250 C
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

57 T03-0265 22,9 32,9 210 A
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

58 T03-0266 22,9 32,9 210 C
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

59 T03-0267 28,1 40,4 175 A
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

60 T03-0268 28,1 40,4 175 C
G SAE A

2/Hole

SAE  16-4

9/Teeth

Ø15,5

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series (Front)

103



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange

Type
Shaft Type Hole Type

1 T03-0269 4,0 5,7 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

2 T03-0270 4,0 5,7 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

3 T03-0271 6,1 8,7 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

4 T03-0272 6,1 8,7 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

5 T03-0273 8,2 11,8 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

6 T03-0274 8,2 11,8 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

7 T03-0275 9,5 13,1 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

8 T03-0276 9,5 13,1 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

9 T03-0277 11,9 17,1 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

10 T03-0278 11,9 17,1 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

ORDER CODES

1PN/1PN Series Moduler Middle Pumps (For Multiple Pumps)

104



w w w . h y d r e x . c o m . t r

No. Item Code
Displacem

ent cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange

Type
Shaft Type Hole Type

11 T03-0279 14.0 20,1 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

12 T03-0280 14.0 20,1 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

13 T03-0281 16,8 24,1 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

14 T03-0282 16,8 24,1 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

15 T03-0283 19,2 27,2 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

16 T03-0284 19,2 27,2 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

17 T03-0285 22,9 32,9 210 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

18 T03-0286 22,9 32,9 210 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

19 T03-0287 28,1 40,4 175 A X
SAE

14/Teeth
Inlet-Outlet Ø40-M6x1x13 (4) #

20 T03-0288 28,1 40,4 175 C X
SAE

14/Teeth
Inlet-Outlet Ø40-M6x1x13 (4) #

21 T03-0289 4,0 5,7 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

22 T03-0290 4,0 5,7 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

23 T03-0291 6,1 8,7 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

24 T03-0292 6,1 8,7 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

25 T03-0293 8,2 11,8 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

26 T03-0294 8,2 11,8 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

27 T03-0295 9,5 13,1 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

28 T03-0296 9,5 13,1 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

29 T03-0297 11,9 17,1 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

30 T03-0298 11,9 17,1 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series Moduler Middle Pumps (For Multiple Pumps)

105



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange Type
Shaft Type Hole Type

31 T03-0299 14.0 20,1 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

32 T03-0300 14.0 20,1 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

33 T03-0301 16,8 24,1 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

34 T03-0302 16,8 24,1 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

35 T03-0303 19,2 27,2 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

36 T03-0304 19,2 27,2 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

37 T03-0305 22,9 32,9 210 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

38 T03-0306 22,9 32,9 210 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

39 T03-0307 28,1 40,4 175 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

40 T03-0308 28,1 40,4 175 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series Moduler Middle Pumps (For Multiple Pumps)

106



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0309 4,0 5,7 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

2 T03-0310 4,0 5,7 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

3 T03-0311 6,1 8,7 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

4 T03-0312 6,1 8,7 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

5 T03-0313 8,2 11,8 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

6 T03-0314 8,2 11,8 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

7 T03-0315 9,5 13,1 250 A X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

8 T03-0316 9,5 13,1 250 C X
SAE

14/Teeth

Inlet/Outlet

Ø 30-M6x1x13(4)◊

9 T03-0317 11,9 17,1 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

10 T03-0318 11,9 17,1 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊

OutletØ 30-M6x1x13(4)◊

ORDER CODES

1PN/1PN Series Moduler Tandem Rear Pumps

107



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 rpm

lt/min.

Rated

Pressure

bar

Rotation

A-Left C-

Right

Mounting

Flange

Type
Shaft Type Hole Type

11 T03-0319 14.0 20,1 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

12 T03-0320 14.0 20,1 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

13 T03-0321 16,8 24,1 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

14 T03-0322 16,8 24,1 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

15 T03-0323 19,2 27,2 250 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

16 T03-0324 19,2 27,2 250 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

17 T03-0325 22,9 32,9 210 A X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

18 T03-0326 22,9 32,9 210 C X
SAE

14/Teeth

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

19 T03-0327 28,1 40,4 175 A X
SAE

14/Teeth
Inlet-Outlet Ø40-M6x1x13 (4) #

20 T03-0328 28,1 40,4 175 C X
SAE

14/Teeth
Inlet-Outlet Ø40-M6x1x13 (4) #

21 T03-0329 4,0 5,7 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

22 T03-0330 4,0 5,7 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

23 T03-0331 6,1 8,7 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

24 T03-0332 6,1 8,7 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

25 T03-0333 8,2 11,8 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

26 T03-0334 8,2 11,8 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

27 T03-0335 9,5 13,1 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

28 T03-0336 9,5 13,1 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

29 T03-0337 11,9 17,1 250 A X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

30 T03-0338 11,9 17,1 250 C X
SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series Moduler Tandem Rear Pumps

108



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

31 T03-0339 14.0
20,

1
250 A X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

32 T03-0340 14.0
20,

1
250 C X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

33 T03-0341 16,8
24,

1
250 A X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

34 T03-0342 16,8
24,

1
250 C X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

35 T03-0343 19,2
27,

2
250 A X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

36 T03-0344 19,2
27,

2
250 C X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

37 T03-0345 22,9
32,

9
210 A X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

38 T03-0346 22,9
32,

9
210 C X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

39 T03-0347 28,1
40,

4
175 A X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

40 T03-0348 28,1
40,

4
175 C X

SAE

14/Teeth

Inlet Ø40-M6x1x13 (4) #

OutletØ35-M6x1x13 (4) #

ORDER CODES

1PN/1PN Series Moduler Tandem Rear Pumps

109



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0349 1,2 1,5 280 A X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

2 T03-0350 1,2 1,5 280 C X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

3 T03-0351 1,6 1,9 280 A X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

4 T03-0352 1,6 1,9 280 C X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

5 T03-0353 2,2 2,9 280 A X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

6 T03-0354 2,2 2,9 280 C X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

7 T03-0355 2,9 3,9 280 A X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

8 T03-0356 2,9 3,9 280 C X
SAE

14/Teeth
Inlet/Outlet Ø35-
M6x1x12 (4) #

ORDER CODES

1PN/0P1 Series Moduler Tandem Rear Pumps

110



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0357 28,8
41,

5
250 A B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40 

M8x1,25x13(4)◊

2 T03-0358 28,8
41,

5
250 C B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40 

M8x1,25x13(4)◊

3 T03-0359 33,3
47,

7
250 A B

Paralel 

Parallel

Inlet-Outlet

M8x1,25x13(4)◊

4 T03-0360 33,3
47,

7
250 C B

Paralel 

Parallel

Inlet-Outlet

M8x1,25x13(4)◊

5 T03-0361 33,3
47,

7
250 A B

1/8

/Tap.

InletØ51M10x1,5x13(4)◊ OutletØ40 

M8x1,25x13(4)◊

6 T03-0362 33,3
47,

7
250 C B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

7 T03-0363 37,8
54,

5
210 A B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

8 T03-0364 37,8
54,

5
210 C B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

9 T03-0365 37,8
54,

5
210 A B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

10 T03-0366 37,8
54,

5
210 C B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

ORDER CODES

2P1/1PN Series Moduler Tandem Front Pumps

111



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

11 T03-0367 42,6
64,

0
210 A B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

12 T03-0368 42,6
64,

0
210 C B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

13 T03-0369 42,6
64,

0
210 A B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

14 T03-0370 42,6
64,

0
210 C B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

15 T03-0371 45,4
66,

5
210 A B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

16 T03-0372 45,4
66,

5
210 C B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

17 T03-0373 49,4
71,

8
210 A B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

18 T03-0374 49,4
71,

8
210 C B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

ORDER CODES

2P1/1PN Series Moduler Tandem Front Pumps

112



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

19 T03-0375 49,4
71,

8
210 A B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

20 T03-0376 49,4
71,

8
210 C B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

21 T03-0377 56,1
81,

5
175 A B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

22 T03-0378 56,1
81,

5
175 C B

Paralel 

Parallel

Inlet-Outlet

Ø48- M8x1,25x13(4)◊

23 T03-0379 56,1
81,

5
175 A B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

24 T03-0380 56,1
81,

5
175 C B

1/8

/Tap.

InletØ51-M10x1,5x13(4)◊ OutletØ40-

M8x1,25x13(4)◊

ORDER CODES

2P1/1PN Series Moduler Tandem Front Pumps

113



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

1 T03-0381 4,0 5,7 250 A B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

2 T03-0382 4,0 5,7 250 C B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

3 T03-0383 6,1 8,7 250 A B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

4 T03-0384 6,1 8,7 250 C B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

5 T03-0385 8,2 11,8 250 A B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

6 T03-0386 8,2 11,8 250 C B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

7 T03-0387 9,5 13,1 250 A B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

8 T03-0388 9,5 13,1 250 C B

SAE  16-4

9/Teeth

Ø15,5

Inlet/Outlet

Ø 30-M6x1x13(4)◊

9 T03-0389 11,9 17,1 250 A B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

10 T03-0390 11,9 17,1 250 C B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

ORDER CODES

2P1/1PN Series Moduler Tandem Rear Pumps

114



w w w . h y d r e x . c o m . t r

No. Item Code
Displaceme

nt cc/rev

Flow at

1500 

rpm

lt/min.

Rated

Pressure

bar

Rotatio

n

A-Left

C-Right

Mounting

Flange Type
Shaft Type Hole Type

11 T03-0391 14.0
20,

1
250 A B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

12 T03-0392 14.0
20,

1
250 C B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

13 T03-0393 16,8
24,

1
250 A B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

14 T03-0394 16,8
24,

1
250 C B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

15 T03-0395 19,2
27,

2
250 A B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

16 T03-0396 19,2
27,

2
250 C B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

17 T03-0397 22,9
32,

9
210 A B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

18 T03-0398 22,9
32,

9
210 C B

SAE  16-4

9/Teeth

Ø15,5

InletØ40-M6x1x13(4)◊ OutletØ 30-

M6x1x13(4)◊

19 T03-0399 28,1
40,

4
175 A B

SAE  16-4

9/Teeth

Ø15,5

Inlet-Outlet Ø40-M6x1x13 (4) #

20 T03-0400 28,1
40,

4
175 C B

SAE  16-4

9/Teeth

Ø15,5

Inlet-Outlet Ø40-M6x1x13 (4) #

ORDER CODES

2P1/1PN Series Moduler Tandem Rear Pumps

115



w w w . h y d r e x . c o m . t r

A.O.S.B. 10.000 Sokak No.22 

Çiğli / İzmir / Türkiye

Tel: +90 232 376 79 99

Fax: +90 232 376 80 78

HYDREX

sales@hyrex.com.tr

info@hydrex.com.tr 


